Integer division up to 100 #4

21) 1288 + 14

1178 =+ 31 =

1)

2)

22) 220 = 20

3111 =51
18 =9

23) 3640 = 52

3)
4
5
6
7
8
9

24) 224 + 8 =

3686 =+ 38

25) 1645 = 47

4556 = 67

26) 462 + 14

2200 = 100
84 + 28

27) 2739 = 83

28) 858 = 22

840 + 35

20) 4418 = 94

3040 + 38
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35) 4180 = 55

15) 1300 = 25

36) 1160 = 58

37) 170 + 34

38) 4800 + 60

39) 5658 + 69

40) 792 < 44

5429 = 61
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Integer division up to 100 #4 (Solutions)

1178 +- 31 = 38 21) 1288 + 14 =92
3111 + 51 =61 22) 220 +20=11
18§+9 =2 23) 3640 +52="70
3686 + 38 = 97 24) 224 +8 = 28
4556 + 67 = 68 25) 1645+ 47 =35
2200 =+ 100 = 22 26) 462 + 14 = 33
84 +28=3 27) 2739 + 83 = 33
840 + 35 = 24 28) 858 +~22 =239
3040 + 38 = 80 29) 4418 +94 = 47
924 =12 =77 30) 3740 +~ 44 = 85
3200 =50 = 64 31) 704 + 32 = 22
1920 + 32 = 60 32) 396 +36 =11
2698 + 71 = 38 33) 2774 +38=173
3549 + 91 = 39 34) 6370 +~ 98 = 65
1300 + 25 = 52 35) 4180 + 55 =176
2035 + 37 = 55 36) 1160 + 58 = 20
1170 = 30 = 39 37) 170 +-34=5
55 +11=5 38) 4800 + 60 = 80
2376 + 36 = 66 39) 5658 + 69 = 82
5429 = 61 = 89 40) 792 +44 =18



